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 6H HQWLHQGHQ UHIHULGRV D OD FODVLILFDFLyQ GH ORV GLVWLQWRV WLSRV GH LQLFLDWLYDV TXH UHDOL]D OD 5HVROXFLyQ GHO 7HUFHU 7HQLHQWH GH $OFDOGH�
GH �� GH GLFLHPEUH GH ����� DSDUWDGR 35,0(52 �3URSRVLFLRQHV QR QRUPDWLYDV VREUH PDWHULDV GHQWUR GH OD FRPSHWHQFLD GHO 3OHQR��
6(*81'2 �3URSRVLFLRQHV QR QRUPDWLYDV TXH YHUVHQ VREUH PDWHULDV FRPSHWHQFLD GH RWURV yUJDQRV GLVWLQWRV DO 3OHQR GHO
$\XQWDPLHQWR�� &8$572 �3URSRVLFLRQHV GH ORV JUXSRV SROtWLFRV \ GH ORV FRQFHMDOHV TXH LQWHUHVHQ GHO HTXLSR GH *RELHUQR OD
PRGLILFDFLyQ�GH�XQ�WH[WR�QRUPDWLYR��


